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Question Number : 1 Question Id : 3666944175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An organization awarded 48 medals 1n event “A’, 25 mn event ‘B’ and 18 in event
“C’. If these medals went to total 60 men and only five men got medals in all the
three events, then how many received medals in exactly two of three events?

Options:

36669412981, 1°

36669412982, ~

36669412983, 10

36669412984, 21
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UF X1 H UdiFEar A # 48 Ugs, Uioaiiial B # 25 9asd 7Y Wioaiid

CHI18UcH

ﬁ?ly af& 0% uqm@ﬂﬁﬂ‘g&@ﬁfﬁlﬁﬁmﬁmmmq g9l &l o=l wiagr
dl {ha- 9901 &1 3l <l Hiaaimians § ges Ha?

Options:

36669412981. 13

36669412982. 9

36669412983. 10

36669412984, 21

arsii | ues 9,

Question Number : 2 Question Id : 3666944176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L-:t (o B. v) be the image of the pomt P (2. 3. 5) n the plane 2x + y

o+ P+ visequal to
Options:
36669412985, 1.2
36669412986. 10

36669412987. ©

36669412988. 5

— 3z =06. Then
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 fdg P (2. 3. 5) DT A 2x + y— 3z =6 H Widf6ad (. p. 1) 8 | T o

T o
Options:
36669412985. 1.
36669412986. 10

36669412987. ¢

36669412988. 3

Question Number : 3 Question Id : 3666944177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider ellipses E; : o® +ky*=1.k=1,2..... 20. Let C; be the circle which

touches the tour chords joming the end points (one on minor axis and another on
major axis) ot the ellipse E;. It ; 1s the radius of the circle Cy, then the value ot

=17

Options:

36669412989, 2870

36669412990. 3080

36669412991, 3210

36669412992, 3320
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Question Number : 3 Question Id : 3666944177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UG E, : b + i3 =1, k=1.2...., 20 DI [qIR DIfoW | JHI C, I8 I 5. ol
&IUdd E, & 3 fdg3il (U mg 318 O T gERT a1l &Hﬂﬂﬂﬁhﬂﬁ areit

IR Siaredl 1 W=l X1 g |1 7S g ¢, B Bl v, 8. E

T A &:
.

Options :

36669412989, 2870
36669412990. 3080
36669412991, 3210

36669412992, 3320

Question Number : 4 Question Id : 3666944178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of triplets (x. y. z). where x. y. z are distinct non negative integers
satistyme x +v + z =15, 1s

Options:
36669412993. 136

36669412994, 114

36669412995, Y.

dYCCCOAN1HYNNOE O
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Question Number : 4 Question Id : 3666944178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I (x. y. z). O8] x. v, z {59 BURR YU © AUl x + y +z =15 DI Gg¥ D &.
P TSI &

Options:

36669412993, 130

36669412994, 114

36669412995, 9.

36669412996. &0

Question Number : 5 Question Id : 3666944179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of integral solutions x of lmgl. >
x+—|
_ g

Options:

36669412997. &

36669412998. 7

36669412999. &
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36669413000. 5

Question Number : 5 Question Id : 3666944179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2
v

F x=TT

\2x—3

log =0 o %Uﬂfm gdl x DI 41 ©

| x4o
Options :

36669412997. &
36669412998. 7

36669412999. O

A

36669413000. .

Question Number : 6 Question Id : 3666944180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let Abea 2 % 2 matrix with real entries such that A'= o A+ 1, where
a €Em — {—1.1}. If det (A~ — A) = 4. then the sum of all possible values of o is

equal to

Options:

3
2

36669413001.

3
Z

36669413002.
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36669413003. 2

36669413004. (

Question Number : 6 Question Id : 3666944180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIHT A GRS 3faad] &1 T 2 « 2 ATJE § fordged il A'=a A+17.
aEm —{—1. 118 1 TG det (A2 —A) =48, Tl « P GHI HUI AMFI DT YT 6N &

Options:

3
z

36669413001.

k2 | s

36669413002.
36669413003. 2

36669413004. O

Question Number : 7 Question Id : 3666944181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let f(x) :[.1'1 .1':| F|-x +[x]||. where x e B and [¢] denotes the greatest integer
less than or equal to t. Then. f 1s

Options:

36669413005. not continuous at x=0 and x=1
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36669413007. contimuons at x=0. but not continuous at x=1

36669413008 continuous at x=1, but not contmuous at x=0

Question Number : 7 Question Id : 3666944181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o

-

AT £ (x) =[x —x | +|-x+[x]| 8. S8 xR S AU [[] HETH QUIIP <% | Tl f

Options:

36669413005, ¥=0 T x=1 TR Hdd -5l &

36669413006, x=0 TUT x=1 TR Idd §

26660413007 ¥=0 TR T 8. W x=1 WYdd I8l ¢

26660413008 ¥=1 TR Hdd 8. TR x=0 W Ydd el §

Question Number : 8 Question Id : 3666944182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[t equation of the plane that contamns the pomt (—2.3.5) and 1s perpendicular to cach
of the planes 2x +4y+ 5z=8 and 3x — 2y + 3z =5 15 ax + Py + vz +97 = 0 then
o+ f+v=

36669413009, 1
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36669413010, 16

36669413011, 17

36669413012, 18

Question Number : 8 Question Id : 3666944182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe wedd, forad fag (-2.3.5) fRud & Tur Sl < SHddl 2x + 4y + 52 =8 AUl
3x—2y+3z=35P Tddd g, PIHHIF W ox + By + vz 97 =08, D a+p+7y=

Options:

366694130009. 15

36669413010. 16

36669413011. 17

36669413012. 18

Question Number : 9 Question Id : 3666944183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. = ‘ . g, : i - X o .
Area of the region {(x,v) : x* + (y=2)" <4.x* = 2v } 15
Options:

DCCCNA1TIN1T)
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36669413014, 3

36669413015.

36669413016.

Question Number : 9 Question Id : 3666944183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A {(xy): 2 +(y—27 <4, x2 =2y } DI HAHd o
Options:

&
'J"[__
36669413013. 3

36669413014. 3

36669413015, 3

36669413016. 3
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Question Number : 10 Question Id : 3666944184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let f:[2. 4] =R be a differentiable function such that

(x log. 1} 7 (1) —4—{]0_&@ 1);‘(3]4—;‘(?] >l,xe [2,4] with £(2) =-—_!; and
b=
f4)= "y

Consider the following two statements :

(A): f(x)=1, torallx €2, 4]

(B) : f{ll E% .torall xe[2. 4]
Thermn.

Options:

36669413017, Only statement (A) 1s true

36669413018 Only statement (B) 1s true

36669413019 DBoth the statements (A) and (B) are true

36669413020 Netther statement (A) nor statement (B) 1s true

Question Number : 10 Question Id : 3666944184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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O £:[2. 4]— R TS ATH B g, forgd ferg

(xlog, x) /" (x)+(log,x) f (x)+f (x) > Lx €[2,4]. @ == TUT f(4)= ._11% |
% &1 HYHI BT f[daR DifolT -

A) I xe2. 4B RU ) <18 |

B) gt xe[2, 4] F W fx)2= B

8

dl

Options:

36669413017, P90 HYUT (A) T ©

36669413018, P94 HYF (B) HT ©

36669413019, (A) TUT (B) GFI HYT T T

26669413020 1 Al DY (A) 7 Bl DY (B) II B

Question Number : 11 Question Id : 3666944185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let G be a non-zero vector parallel to the line of mtersection of the two planes
described by 7+ ;. i+ kand i—j, j—k.If 8 is the angle between the vector g and
the veetor p_2; 27+ andg-b =6 . then the ordered pair [Bj i X f‘;| ] 15 equal
to

Options:

2 3@’5}

36669413021. [ 4

RAARARQA12N272

L]
&collegedumaa
India’s largest Student Review Platform

S



%3 EJE.]

36669413023. { .

36669413024, \ 4

Question Number : 11 Question Id : 3666944185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O 547, i+ F Q4T i— 75— F SN QUITU & 9qqdl i Uid=e @l &

qHIR U AR W 4 ¢ | UG AR 5 TUHER 555 o5, P o
aﬁme%HW'mgzﬁ%mﬂmﬁmgﬁ{ﬁLﬁxﬁ“ﬁHw{%

Options:

L0
36669413021, \ 4

T @]
36669413022.{3 -

7L
36669413023, \ -

36669413024, \ 4
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Question Number : 12 Question Id : 3666944186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For any vector g =g, 1 +a,j+a,k, with 10|g;|<1,i=1, 2, 3.

consider the following statements

“3 H’ <|a|

(A : max !a | la,
* 11 2

.

B) :|a| = 3max{|a|.|a,|.[ay]
Options:

36669413025, Only (A) 1s frue

36669413026, Only (B) 1s true

36669413027, Both (A) and (B) are true

36669413028, Netther (A) nor (B) 1s true

Question Number : 12 Question Id : 3666944186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U W WS =g, i +a,j+ak, . 101a]<1,i=1.2.3F [ o Sl o1
AR & \iéq:

(A): max { a |,

t<la| ®
‘1’3” G

e

(B) :|a@ = 3max “r:q ‘ fa
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36669413025, P90 (A) HI

36669413026, P94 (B) T ©

36669413027, (A) TUT(B) &HI 9 ©

36669413028, 71 Al (A) I (B) I ©

Question Number : 13 Question Id : 3666944187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let x4, X5, ..., Xygg be 1n an arithmetic progression. with x;=2 and their mean equal

to 200. It y; =i(x;—1 ), 1 £ i = 100, then the mean of yy, ¥5,..., ¥1q0p 18

Options:

36669413029, 10051.50
36669413030. 10049.50
36669413031, 10101.50

36669413032, 10100

Question Number : 13 Question Id : 3666944187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A x4, Xo..., Xq00 P THIAR YU H . oI 9199 200 8 04T x; =2 % | TlQ
J;IE: — ifl'"{j, _E;i; 1 g 100 %r‘ ﬂ_ﬁ" ;L-lj _1.'2 Jiading }1]_5:”} | -‘I‘”EH%

Options:

36669413029. 10051.50
36669413030. 10049.50
36669413031, 10101.50

36669413032, 10100

Question Number : 14 Question Id : 3666944188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let wy be the pomnt obtained by the rotation of z; = 5 + 4i about the origin
through a right angle 1n the anticloclawvise direction, and w, be the pomnt
obtained by the rotation of z, = 3+5i about the origin through a right angle in the

clockwise direction. Then the principal argument of wy =, 18 equal to

Options:

1 33
T—tan = —
36669413033. 5

—7T + tan E
36669413034. 5

m—tan

&
36669413035. b

71+ tan E
36669413036. 9
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Question Number : 14 Question Id : 3666944188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oz, = 5 + 4i Dl Hd fdg & GrUef us! & [duiid <2 & ue GHHI0 db

g1 UR fdg w, WIw idl € Tyl

7, = 3+5i I Haileig & IU& Ui Di fGnd

U YHBI T Y TR fdg v, W BIATE | Tl wy — w, BT HH AT GRI6R

Options:
1 33
T—tan  —
36669413033.
~1 33
~T+tan =
36669413034. "
1 8
n—m@En = —
36669413035. 9
—7 + tan ! :
36669413036. 9

Question Number : 15 Question Id : 3666944189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The value of the integral

Options:

log

o E

36669413037.

log, 2

el
—log, 2

2+5) | S5

;l+«f§ -

dx is equal to

~

S
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log
36669413038. \

=
L
_I_
o
!
o | %

I
-
.,|__,
o
IJ‘T"‘*—E

log. \ N
¥ -
36669413039, | VItV

AN

.Ugg =
1+ /5 -

36669413040. \ J £ /

Question Number : 15 Question Id : 3666944189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

log, 2 , ‘, — _.
gaIRT | ef|log, [¢f+ 1+ | |dx BIHARIRE
_lnggj B | -
Options :
2445) | 5
log, | — e
A1+ 1,1@ =
36669413037.
! il
N2(2+5] | 5
log ' J .,J";
Ji+d5 |2
36669413038. \ -'

I
e, |
|
-1-'1
S
2 | G

log ., X _
36669413039. | V1+V5

36669413040.
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VE(3-45) | s

Question Number : 16 Question Id : 3666944190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of elements 1n the set

S = {ﬁ e [0, 27]: 3cos* B—5cos’B—2sin’ 0+ 2= D} 15
Options:

36669413041. &
36669413042. ©
36669413043. 10

36669413044, 12

Question Number : 16 Question Id : 3666944190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
dH™Y 5= {E = 0. 2] 3cos  B—5cos” H—2sin® 9+ 2

o} # sfagal B H& &
Options:

36669413041. &

36669413042. ©
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36669413044, 1.

Question Number : 17 Question Id : 3666944191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let S = {M = [a;] a; €{0. 1. 2}, 14, j £2} be a sample space and
A={M €5 Mismmvertible} be an event. Then P(A4) 15 equal to

Options :
47
36669413045, ©1

36669413046, 2

49
36669413047. 81

50
36669413048, &1

Question Number : 17 Question Id : 3666944191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HFTS = (M= [ay]. ay €40, 1, 2}, I=i,j <2} U Ufciex WAfP € qur
A={MeS: M HchHUA ). UH eI § | df P(4) e §

Options:

a
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47
36669413045, 51

36669413046, 21

49
36669413047. 51

50
36669413048. &1

Question Number : 18 Question Id : 3666944192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let sets A and B have 5 elements each. Let the mean of the elements in sets A and

B be 12

E be 5 and 8 respectively and the variance of the elements in sets A and

and 20 respectively. A new set C of 10 elements 1s formed by subtracting 3 from
each element of A and adding 2 to each element of B. Then the sum of the mean

and variance of the elements of C 15

Options:

36669413049, 98

32
36669413050.

36669413051, 36

36669413052, 4U

~
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Question Number : 18 Question Id : 3666944192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 9H=g A H 5 eaad & oy 99=g B # Wi 5 s/aud | 9 99=df A Y1 B % agal
& AW HHRL S TUI 8§ SR 9=dl A GUI B & 3G90l & TR0 HHR: 12 GUT 2081 A &
Yed 3agd | 3 el #X ayl B & U 3999 H 2 Wi %X 10 a9yl &1 Uh T4 =0
C S99 Wl o1 a1 C & 3/90dl & A1 gyl T &1 IR § -

Options:

36669413049. 38
36669413050. 3.2

36669413051, 36

36669413052, 40

Question Number : 19 Question Id : 3666944193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let R be a rectangle given by the lines x =0, x =2, y =0 and y = 3. Let A(o. 0)
and B (0. ). a € [[J 2| and B€E [0. 5], be such that the line segment AB divides the

arca of the rectangle R in the ratio 4:1. Then, the mud-pomnt of AB lies on a

Options:

36669413053, straight line

36669413054, Parabola

36669413055, hyberbola

36669413056. circle

&collegeduniaﬁ
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Question Number : 19 Question Id : 3666944193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFATE x =0, x =2, y =0Ty = 5 GRI [HHd SMAd R © | HFT A(e. 0) AU
B (0, ). € [0. 2]. e [0. 5] TH VIR & [ TWES AB 3T R T 8750 D
4:1 P U H dledl & | 9 AB @1 A [dg Ud

Options:

36669413053, IR <@ IR ©

36669413054, TRATd IR B

36669413055, ATTIRATY TR g

36669413056, 30 TR 6

Question Number : 20 Question Id : 3666944194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let vy = 1(x) be a solution curve of the differential equation.

(1-— 1{:1* ) dx = vdx + xdy.

It the line x = 1 intersects the curve y = y(x) at y = 2 and the line x = 2 intersects
the curve y = y(x) at y = a. then a value of o 15

Options:

36669413057, 2(3e¢” —1)

36669413058.
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1—3e”

2(3¢” +1)

36669413059.

36669413060.

| 7
14 3&”

2(3¢” —1)

e

2(3e” +1)

Question Number : 20 Question Id : 3666944194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HIHl S1ddh ¢

LX~ T; 1EJ dx = }’{i’r =+ _."m?}-

PIEAdD y =y(x) 8 | TG I@x= 1.
x=2.dd y = y(x) ﬁn = g U P[C

Options:

gHIHI0]

36669413057. <\

36669413058.

36669413059.

36669413060.

2(3e” +1)

| 7
14 3&

2(3¢” —1)

R

2(3¢” +1)

y=yx)Ply=2WD

.o BT AN G

Zdl © aYuT 3@l

~

S
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Mathematics Section B

Section Id : 366694241
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694241
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 3666944195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. L 2 ) 7 . . ; : 44 0 ;
The mean of the coetficients of x, x~,..., x' i the binonual expansion of (2 + x)” is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 21 Question Id : 3666944195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 +xP P IGUSUIR T x, +2...., x’ & UlD[ &I ey gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666944196 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a line [ pass through the origin and be perpendicular to the lines
:F =(1-11)-7k)+ (i +2)+3k), 2 € Rand
Y #( 14 L) (-i #21+k),pe R

If P 1s the point of mntersection of [ and /4, and Q (o<, (. v) 1s the foot of

perpendicular from P on /5. then 9(cc + 5 + v) 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666944196 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1

O Udh @l [ o [6g 9 BIPR Sldl g aul @13

foF =(i-115-7k)+ A(1+2]+3k), L€ R.

j,r: P = {_'I‘ + L) + ILL(JI i :i + L) TR= 1

% Tead § | ie [ qUT ], BT Ufdwe- g e aUTPH [, R TE @I
1g Q (o, B, y) B, T 9(cc+p+y) TRIER g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 23 Question Id : 3666944197 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of ordered triplets of the truth values of p, g and » such that the truth

value ot the statement (pvq ) A { pvr)= (¢ v r) 18 True. 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666944197 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1
p, q AT » & GIHM & HIH FAPL oD [T BUT (pyvg)a(pvr)=(gvr)
B AT True ©. DI BT GRI6R g |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666944198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If @ and b are the roots of the equation x*— 7x — 1 = 0, then the value of

a'+b " +d +b"
a’ + b

Response Type : Numeric

13 equal to

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666944198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 21 21 L7 17
O FHieR - k-1 =0 h g qUTbe.al £ +2 +4 +9 oM

A9 10
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666944199 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108 107 2 1
Let S=109+—1 il T
> 5 . T

. Then the value of ["155 3 [*35"]4* ] 18

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666944199 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1_ 108 107 2 L ReE e e __
H[H] §=1091 . T 7 T e g l‘ﬂT tlﬁS—[lil 34 ] & O FEY
g |

5 5 5
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666944200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2

Jx"”(u 3)"dt. If 11a(10,6)+18a(11,5)=p(14)°. thenp
>

For m.n>= 0, let a(m.n)

15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666944200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.1 = 0 aiﬁ*lt{rﬂ:ﬂ ct(m. n) =j1‘m(1+ EIj”dr% | Iﬂﬁ
i

11a(10,6)+18 a(11,5) = p (14)° T p TR 4
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 27 Question Id : 3666944201 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of integral terms 1n the expansion of

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

p
3

\

Fogd | o

]
+ 5

HI'I {55[1

15 equal to

Question Number : 27 Question Id : 3666944201 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I(' I l '\,Il {pb’.[]‘

32 454 | P YIRE YUl Ual Bl HET G

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 28 Question Id : 3666944202 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Caveart Mavire * A \AMlvanms AMAaviie < 1
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. 2

LetH, : =~ Y _1n €17 Let k be the smallest even value of n such that the
1+n 3+n

eccentricity of Hy, 1s a rational number. It { 1s the length of the latus rectum ot H;.

then 21/ 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666944202 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y i

HATH,: X 3 ) n €N | HFATk, 0 D1 98 Gidq 95 JH g forge fer

1+n 3+n
H, B Sobxdl U URUY &1 ¢ | 3G Hy, DI A1iHcd Sl i darg /8. a1 210
R % |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666944203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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0 1 2]
Let A=la 0 3|,wherea.c €3 If 4° = 4 and the positive value of @ belongs
1 ¢ 0]

to the interval (n — 1, n], where y e 1. then » 1s equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666944203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 1 2
OMT A=|u 0 3|.a.c ez B 18 43=4 B TYU o« BT YATHD T HdRTA
| ||

(n—1.n] B 8. TeTpen B A n IR o |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666944204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an examination. 5 students have been allotted their seats as per their roll
numbers. The number of ways. in which none of the students sits on the allotted

seat, 1%
&collegeduniaa
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666944204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% T H 5 BE B 3 A0 7R P HTIR Hie St 71g 8 1 37 dliel, omH
®ig M BEd TS dic Wel 43dl 6. §1 9T

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 366694242
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Sartinn Markec N
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Enable Mark as Answered Mark for Review and

Yes
Clear Response :
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694242
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 3666944205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A transmitting antenna 1s kept on the surface of the earth. The mmimum height ot
receiving antenna required to recerve the signal i line of sight at 4 kin distance

. s 3 = s
from it 1s x ¥ 107 m. The value of x 15

( Let, radius of earth R = 6400 km )
Options:

36669413071. 1.23

36669413072. 12.5

36669413073. 125

36669413074, 1250

Question Number : 31 Question Id : 3666944205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T WOk UISaT &l Gl & o X T&T 7137 §| 3HH 4 km & g 0T T®
T e wg e & forr amer dfear efaT (FAET) & 3 TaTE
FEdH S92 x « 107 m ¥l x F AT &

(FTET, g & =g R = 6400 km)

Options:

36669413071. 1.23
36669413072. 12.3
36669413073. 125

36669413074, 1250

Question Number : 32 Question Id : 3666944206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The logic pertormed by the circuit shown 1n figure 15 equuivalent to

a e Do |'
b e D@ | D

Options:

I'l-n:‘|
E |

36669413075. OR

36669413076. NAND

36669413077. AND

36669413078. NOR

a
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Question Number : 32 Question Id : 3666944206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o & wefdid aRey garr of & 1 @& (qiers) fea & dea &:

a e Dﬂ
b e DQ D

Options:

36669413075. OR

36669413076. NAND

36669413077. AND

36669413078. NOR

Question Number : 33 Question Id : 3666944207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two radioactive elements A and B mtially have same number of atoms. The halt
lite of A 15 same as the average life of B. It /., and /5 are decay constants of A and

B respectively. then choose the correct relation from the given options.

Options:

36669413079, *aln2=4ig

36669413080, *-a = /-5 In2

a@
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J"f-._"i = H-E

36669413082, 4 = 2/

Question Number : 33 Question Id : 3666944207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l STl Tl A Ud B & URHAIVS] & 30 YR § THH 51 ADI HS M.
B @I 3AEd A & FHM 21 TS 1., Ud ip. A UG B & HHY: &7 Hadie 8, dl

- fqu e fawedl O 9 gt gy e

Options :

36669413079, ~aln2=/p
36669413080, *-a = 5 In2
36669413081, *4 = /B

36669413082, ~a = 2/p

Question Number : 34 Question Id : 3666944208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A metallic surtace 1s illummated with radiation of wavelength A. the stopping
potential 1s V. If the same surface 1s illuminated with radiation of wavelength 24.

the stopping potential becomes —2 . The threshold wavelength tor this metallic

‘_...Il
&collegeduniaﬁ

S

surtace will be

Options:




36669413083, 44

I | b
e

36669413084.

36669413085, - *

36669413086.

Question Number : 34 Question Id : 3666944208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep it eTfcdep et i 2 RIS arel fafehRuT H weiva febat wir &, forerent el
faqud v, g1 afg g3l ad & 2). & ard fafdor @ wdid faar ome o e

g % Sl ol 8 | =9 YT ® od & for0 Sgel aeresd el

Options:

36669413083, 4+

o | e
-

36669413084.

36669413085, - ©

36669413086.

a
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Question Number : 35 Question Id : 3666944209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The critical angle for a denser-rarer interface 1s 45°. The speed of light in rarer

medium is 3 x 10° m/s. The speed of light in the denser medium is:

Options:

¥ 172 3% 100 mi/e
36660413087, ~ 2 X L Wi

36669413088, 3-12 % 10  ms

36669413089, ° * 10" m/s

[ 8
36669413090, V< * 10 mfs

Question Number : 35 Question Id : 3666944209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{4l Tu-faval 3faRYY ( interface) P feTU SIf~idh HI0T 45° § | fovad Aremd A
R TR 1 d1d 3 « 108 m/s B 1 Y- HIEH H UhT=I DI 91 62

Options:

Y 12 % 10° m/s
36669413087, = 14 * 10" m’s

36669413088, --12 * 107 m’s

36669413089, 5 * 10’ m/s
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36669413090, v2 x10° mys

Question Number : 36 Question Id : 3666944210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AN

—

Impedance

> Curve A .

> Curve B

——>
1 (Hz)

As per the given graph. choose the correct representation for curve A and curve B.
{ Where X~ = reactance of pure capacitive circutt connected with A.C. source

X; =reactance of pure mductive circuit connected with A.C. source

R = impedance of pure resistive ciremt connected with A.C. source.

7. = Impedance of the LCR series circuit}

Options:

36669413091, A= Xc: B=Xg

36669413092, A=A, B=4

|
..

36669413093, 4= X¢. B

36669413094, A= L. B=R

Question Number : 36 Question Id : 3666944210 Question Type : MCQ Option Shuffling : Yes Is

Ouestion Mandatorv : No Calculator : None Resnonse Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

/N
ufcranen

f(Hz)

[GU BU TR (TTH) P HT9R, Ttb AUd a5h B & (01U Fo! [dbed g |

(O8] X =A.C. (VTad!) Hid U o8 Y& YR gRaY &1 widard
X; =A.C. 9id ¥ oG 8T Y& PG URTY &7 Hidgrd
R=A.C. 9Id 4 9s 80 Yx YRR URUY DI UidaTe

Z = 4Uildg LCR URYY Bl Uicarem

Options:

36669413091, A= Xc-B=Xp

|
[N

36669413092, 4= XL- B

I
s

36669413093, 4= X¢- B

|
-

36669413094, 4= XL. B

Question Number : 37 Question Id : 3666944211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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The electric field i an electromagnetic wave 1s given as

~ ; Il' Tl q
E =20 sm m\'LI' - l]] NC™
C

where @ and ¢ are angular frequency and velocity of electromagnetic wave

10~

. . . - .
respectively. The energy contained 1n a volume of 5 m-~ will be

(Given &y = 8-85 x 10712 C%/Nm?)

Options:

B e i
36669413095, 552 <107

& 1203
36669413096, 502 < U7

& w 113 7
36669413097 <8 < 107°-1]

it i o A A
36669413098, 177 1077

Question Number : 37 Question Id : 3666944211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

- . J. X | il
P.=EUSII]EJJ,(t——}j NC

L .

T8l © Td c HAA: PN HGicd U9 [Ud TFaehg qla1 &7 397 g1 5 -
107" m” & HTgdeT A Hdlasc (Contained) FaAl E‘Fﬁ

(e e &, =8.85 » 10712 ¢2/Nm?)
Options:

Ry x ~1
36669413095, ° 50 ¥ 1077

a
&collegedumaa
India’s largest Student Review Platform

S



. el
36669413096, ¢ * 1077

=
36669413097, =52 < 107

B ek
36669413098, 1/ 7/ * 10~

Question Number : 38 Question Id : 3666944212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The free space mnside a current carrying toroid 1s filled with a material of

susceptibility 2 x 107<. The percentage increase in the value of magnetic field
mside the toroid will be

Options :

0

36669413099, ="

0-2%

36669413100.

1%

36669413101.

36669413102, U-1%

Question Number : 38 Question Id : 3666944212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ush YRG! CRISS & H& & Had ®IF Pl 2 « 1072 FHiefafed] ard gard 9

T e e S e o A S T T T o= o
L]
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Options:

2%

36669413099. ~

0-2%

36669413100.

| O
36669413101.1*“

36669413102. 0-1%

Question Number : 39 Question Id : 3666944213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The current sensitivity of moving coil galvanometer 1s mereased by 25%. This
increase 1s achieved only by changing n the number of turns ot coils and area of
cross section of the wire while keeping the resistance ot galvanometer coil
constant. The percentage change in the voltage sensitivity will be:

Options:

+259%,
36669413103.

_750/
36669413104, =~ '°
36669413105, £€1°

36669413106, —50%

Question Number : 39 Question Id : 3666944213 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U od HSail YR Bl YRT GATSI 25% ¢l 4l Wil g | T8 dig. Dol &
dRI DI TN Ud dR & Y DIC SA%d H YRad- d- 4 U sld! ©.
STafds R B oal Pl WioRIY FHad I 911 8 | diees Yrfedt H g3
fcrRrd gRadH g

Options :

YS 0/
Y04

36669413103,

LV

36669413104, ~~ °

36669413105. &

36669413106, —50%

Question Number : 40 Question Id : 3666944214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two 1dentical heater filaments are connected first i parallel and then mn series, At
the same apphied voltage. the ratio of heat produced 1n same time for parallel to
series will be:

Options:
36669413107. 1 : 4

36669413108. 4 : 1

36669413109. 1 : 2

RRARA0413110 2« ]
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Question Number : 40 Question Id : 3666944214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Bic & &l GHEY [haHc] o Ugd YHHR thd H [t 4ull By o SISt oIl
g | g ARG fave & fow, 9o 990 & 99k 98 8 S99 S a1
YUl o H | I T Y 3Td BIT:

Options:

36669413107.1 : 4

36669413108. 4 : 1

36669413109. 1 : 2

36669413110. 2 : 1

Question Number : 41 Question Id : 3666944215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor of capacitance 2 F 15 charged to a potential V. The energy
stored 1n the capacitor 1s E;. The capacitor 1s now connected to another uncharged

identical capacitor in parallel combination. The energy stored i the combination
15 E5. The ratio E,/E 15 :

Options:

36669413111.1:2

36669413112, 2 : 1

36669413113, 2 : 3
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36669413114.1 : 4

Question Number : 41 Question Id : 3666944215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 F YIIRdT aTel U FHHOR Gig ] U I v [dHd dob 3HTalR0d [l SrdT
¢ | GUTRA T Tieid Soll BTHA E, 81 3d 59 JUTRA Bl frdl ga 98%y
ATGTRIT TETRA & TIY YHHR HH H SIIS] Oidl § | JgieH § Iid Sl &
O E, 81 31U E,/E, &:

Options :

36669413111.1: 2

36669413112. 2: 1

36669413113. 2 : 3

36669413114.1 : 4

Question Number : 42 Question Id : 3666944216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The vanation of kinetic energy (KE) of a particle executing simple harmonic
motion with the displacement (x) starting trom mean position to extreme position
(A) 18 given by

Options:

36669413115.
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KET

D =-=-=-= -

()
(x) —
T |
KE ,
0 !'ﬂ‘
36669413116. x =5
KE T .
0 A
36669413117/. X —3
St
KE
. A
36669413118. X —

Question Number : 42 Question Id : 3666944216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y HEd AT FG U B FOr &, 3w ey Ul @ o
() Tufa (A) &, 393 @Eua (x) & |19 3901 afas Fa1 (KE)

Options:

36669413115.
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KET

0
A (x) —
T |
KE |
[l !'ﬂ‘
36669413116. X —

!{ET

4 A
36669413117. &z
St
KE
: A
36669413118. X —

Question Number : 43 Question Id : 3666944217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three vessels of equal volume contain gases at the same temperature and pressure.
The first vessel contains neon (monoatomic), the second contains chlorine
(diatomic) and third contains uramium hexatloride (polyatomic). Arrange these on
the basis of their root mean square speed (v,,,,.) and choose the correct answer

trom the options given below:

Options :
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36669413119, “rms (mono) = Vims {dlm ~ Vims {PDI};}

36669413120. “rms (mono) < Vrms {di'ﬂ} = Vime {P’Dl}')

36669413121, “rms (mono) = Vims (dia) = Vrms (poly)

Vems (d12) < v (poly) < v ... (mono
36669413122, rms (418) < Vms (PO1Y) < Vims { )

Question Number : 43 Question Id : 3666944217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O TG alel diF Sa-1 5 99T 9997 U4 &ld U 714 3461 85 o | Ued dd
7 31 (U d RAHIE), 8 9 H FalRiF (GIORA10d1). Ud deR - H
g0 BT WIRISS (SEURHTUE) 19 § | S5, 2! afl H1ed 4d 91 (v
& YR IR HaYd P2 U4 i ST U [dwedl H ¥ 95l SR s

1..']1".["15:|

Options:

36669413119, “rms (mono) = Vems (dia) > Vrms (poly)
36669413120, Vrms (mono) < v, (dia) <v.. (poly)

36669413121, Vrms (0n0) =V (dia) = v (poly)

Vems (d18) < Ve (pOly) < Vi (moON0O)
36669413122, rms (P -

Question Number : 44 Question Id : 3666944218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
1 kg of water at 100°C 1s converted into steam at 100°C by boiling at atmospheric
pressure. The volume of water changes from 1-00 x 10~ m” as a liquid to

1-671 m~ as steam. The change in mnternal energy of the system during the process

will be

(Gtven latent heat of vaporisaiton = 2257 kl/kg. Atmospheric pressure =
1 x 10° Pa)

Options:

36669413123, — 2090 kI
36669413124, ~ 2090 kI
36669413125, — 2426 kJ

36669413126, — 2476 kI

Question Number : 44 Question Id : 3666944218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

100°C TR 1 Kg U P S0P argHUSHIT €19 TR 100°C B U0 § giafdd
e it & | O T ST, 1.00 % 107 m? §9  1-671 m’® H7U F IRafdd &
SIAI G | 59 WhH & aRF. Ho1d Dt SaR® Hoil H gU IR b1 T HI-

g
(e ©. sTfiavur &1 7 ST = 2257 kl/kg, ATIHUSTE G1d = 1 « 10° Pa)

Options:

36669413123, — 2090 kI

36669413124, — 2090 kJ

36669413125, — 2426 kI
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36669413126, — 2476 k]

Question Number : 45 Question Id : 3666944219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a temperature scale 'X', the boiling point of water 1s 65° X and the freezing
pomt 15 —15°X. Assume that the X scale 1s lmmear. The equivalent temperature
correspondmg to —95° X on the Farenheit scale would be:

Options:

36669413127. —48°F
36669413128. —03°F
36669413129. —112°F

36669413130, —148°F

Question Number : 45 Question Id : 3666944219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foh ! arauTdt & A X TR Ul & F9U1F 65° X U4 [6HP —15°X 8| AFTX
UHHI @1 § | BRAGISCE UHM TR —95° X & 4. Ted dlgHH BIT:

Options:

36669413127. —48°F

36669413128. —63°F

36669413129, —112°F
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36669413130. —148°F

Question Number : 46 Question Id : 3666944220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The radiu of two planets 'A' and 'B' are 'R" and '4R’ and their densities are p and
p/3 respectively. The ratio ot acceleration due to gravity at their surfaces (g, @ gg)

will be;
Options:

36669413131, 3 : 10
36669413132, 4 : 3
36669413133, 5 : 4

36669413134, 1 : 16

Question Number : 46 Question Id : 3666944220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l T8l 'A' IR 'B' $I (AU R' Ud 4R’ §. Ud 3% U-cd A p Ud p/3 B
3 ERIAA! IR [Ecdg @R DT HTUTd (g4 gg) BT

Options:

36669413131, 53 : 16

36669413132. 4 : 3

36669413133, 5 : 4
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36669413134, 1 : 16

Question Number : 47 Question Id : 3666944221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the v - t graph shown. the ratio of distance to displacement mn 25 s of motion

15,
20 [----- -
]
i
|
v 10 f-- .
i fi !
/S S R 20 25
0 5 10 15
[(S) e \\1
oY) 1
Options:
36669413135, 1
:
4
36669413136.
5
36669413137, °
3
36669413138, ~
FAssmemdiam Rlssrmalamie o A™F MArssmnrmbdiave T2l « 20 FNRAAADIMA N mnedioanwve Travnm ¢« RAAFMA Mundiomvm Clasi Bl s o e T
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G0 §U v — ¢ ARG T, 25 PUS &I 7 & SR T Pl Ty g3 U4 fd=gs
BT HUId &

/s L 20 25
Of 5 10 15
I(s) —>
I I \
Options:

36669413135. 1

*

36669413136.

L I i

36669413137.

i I L

36669413138.

Question Number : 48 Question Id : 3666944222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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A coin placed on a rotating table just slips when 1t 15 placed at a distance of 1 cm
from the center. It the angular velocity of the table 1n halved. 1t will just slip when placed
at a distance of from the centre :

Options:

36669413139. 1 ¢
36669413140. 2 cm
36669413141. 4 cm

36669413142, & cm

Question Number : 48 Question Id : 3666944222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot gt g A W UP e v g, ufe e 3l v 9 1 em DI R
]| uﬂrﬂ% dl gg e ovidl o | gfc TS &1 HIvig g7 STel $R (a1 F1dl 3.
I Ryarap1 for 531 IR a1 TR R &7, 98 ©

Options:

36669413139. 1 cm
36669413140. 2 ¢cm
36669413141. 4 ¢m

36669413142. &8 ¢in

Question Number : 49 Question Id : 3666944223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
An average force of 125 N 15 applied on a machine gun firing bullets each of mass
10 g at the speed of 250 m/s to keep 1t 1n position. The number ot bullets tired per

second by the machine gun 1s :
Options:

36669413143, 5
36669413144, 100
36669413145, 30

36669413146. 235

Question Number : 49 Question Id : 3666944223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
10 ¢ SOIH areil Tedl Bl 250 m/s B Tfd F STl g5 U A 7 (Fg) P
Tferd fRufd 5 @A & o, 39 R SR S 96 125 N 81 A=0H T §RI
&It 115 Uid Y Us Tiferd] @1 T 6

Options:
36669413143. 3

36669413144, 100
36669413145, 50
36669413146. 25

Question Number : 50 Question Id : 3666944224 Question Type : MCQ Option Shuffling : Yes Is

Nuestion Mandatorv : No Calcuillatar : None Resnonse Time : N A Think Time:N.A Minimiim
&collegedumaa
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements :

Statements [ ; Astronomical unit (Au). Parsec (Pc) and Light vear (ly) are units for
measurmg astronomical distances.

Statements II : Au < Parsec (Pc) < ly

In the light of the above statements. choose the most appropriate answer trom the
options given below:

Options:

36669413147 Both Statements I and Statements II are correct,

36669413148. Both Statements I and Statements II are incorrect.

36669413149, Statements I 1s correct but Statements II 1s mcorrect.

36669413150. Statements I 15 incorrect butStatements IT 1s correct.

Question Number : 50 Question Id : 3666944224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-4 gl Yy [ MU E:

BUA 1 : TG TPI5 (Au). TRYUP (Pe) Td TBIRI aW (ly) GIed gival AT
& U soRal el

YT : Au < IRID (Pc) <ly

SURIFd Syl & 31dld B, i f4U U fad el § 9 gaiide 3uded 3o 94|

Options:

36669413147, DY 1 Ud Y 11 & Hel g

= _'li.I =
___________ AR I TITA A9 T 7T T-l:i_ll 1|r-‘!.—f%-|'

]
&collegedumas
India’s largest Student Review Platform

S



36669413149, U 1 HEI ¢ [ HUA 11 TTd B

36669413150, P41 L1Idd 8. fhq Y= 11 TEl 5

Physics Section B

Section Id : 366694243
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694243
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 3666944225 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A monochromatic light 15 incident on a hydrogen sample in ground state,
Hydrogen atoms absorb a traction of light and subsequently emut radiation of six

different wavelengths. The frequency of incident light is x x 10! Hz. The value of

X 18

(Given h =4.25 x 1071° cVs)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666944225 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIE gl 99 il fd gol a1 H 8, TR Uhaauiig Y2l H9fdd sidl o
R1ES 16T URHIU] HH1Y 1 & YN HARNE Bl § Ud deagld St Hel-Ha
RATG e BT fafhRur Iefold DRl & | 3HTUldd W= B 31gid x 1015 Hz §l «

®[ HIH =
(ﬁﬂTg h=425 % 10717 eVs 5

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666944226 Question Type : SA Calculator : None

&collegeduniaﬁ
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrona Marks : 1




The radius of curvature of each surface of a convex lens having refractive index 1.8 1s
20 cm. The lens 13 now immersed in a liquid of retractive index 1.5. The ratio of
power of lens 1n air to its power n the liquad will be x ; 1. The value of x 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666944226 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.8 TGP dTcl IAd O P dgh BI 0T 20 em B 1 3(€ 58 TH BT 1.5
3{UacHic ard &d H Sarl oiidl § | §al § <9 & Uidd &1 5d § 54! Uiad 4
U x: 181 x DI HH gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

149

Question Number : 53 Question Id : 3666944227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. - . . . Y .
The magnetic field B crossing normally a square metallic plate of area 4 m~ 18

changing with time as shown in tigure. The magmtude ot induced emt n the plate
during t = 25 to t =45, 1s mV.

Ll = = - - -
l.I.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666944227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 m* &A% Tl UTfca® ToiT § dFEad ok dle gFahig SAB A
AT & T IRadd, 9 & 95i9a g1 §797t=25 Ht=45F R, ¢

# IRT AT aeF q (cmf) FT A mV |

A8 (mI)
71 | P— o

| YR— e

Bl o s * i

=

R ot e -‘__..-r" | |

b - i

0 R — > [ (5)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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10

Question Number : 54 Question Id : 3666944228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the circwt diagram shown in figure given below. the current tlowing through

.. | . Wk
resistance 3 L2158 — A,
3

The value of x 15

4V SV
] }= —
n, =0.5Q 1, =10
A
ARAA 30|
6€)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666944228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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TR g U iE d yelRig ooy . 30 a9 ufoRiy o yaifed g % AT x @I
e Bl

SV

4]
"‘_‘Ii_l_
?f]:

-
050 r, =10

0Ll

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666944229 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As shown n the tigure, a configuration of two equal pomnt charges (qq=-+2u C) 1s

placed on an inclined plane. Mass of each point charge 1s 20 g. Assume that there
1s no friction between charge and plane. For the system of two point charges to be

in equilibrium (at rest) the height h =x » 10~ m.

The value of x 15

| ( ; D
9x 10"Nm" C P I[}mslj
dng, |

(Take
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666944229 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 2 3FER, 20 ¢ SHHA A Gl aurﬁﬁrg HTGRT (g =+ 2u C) TP

ATHd dd X 39 § | FT A9 Ug mméq m S UYU 5l o | @l o 1dul
& e DT IRERI R S R h=x* 10° m &l x B HF B

qic | 9% 10°Nm” C~,g=10ms ">
( )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666944230 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Carvrvort Mavise * A \WNMvranem Mavire - 1




The equation of wave 18 given by
Y = 1072 sin 27 (160t — 0-5x + 7/4)

where x and ¥ are in m and t in 5. The speed of the wave 1s km h~L.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666944230 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt a7 &1 9HiH 0 fF9ad ©

Y =107 sin 2x (160t — 0-5x + 7w/4)

oigl x U4 y HIeX T U t YHUS H § | a7 D1 drel km/h B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 57 Question Id : 3666944231 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The length of a wire becomes /4 and /; when 100 N and 120 N tensions are applied
respectively. It 10/, = 11 /4, the natural length of wire will be L [1. Here the
- A

value of x 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666944231 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dR &1 TE154l 1, Ud [, Bl WIdl 5. oid 59 U= b 100 N Ud 120 N 44l
SR &t 5 €13 101, = 111, 8, 3 IR 3 i @wamg — 7, §H |
UGl x BT AE o

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666944232 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A solid sphere of mass 500 g and radius 5 cm 1s rotated about one of its diameter
with angular speed of 10 rad s7'. If the moment of inertia of the sphere about its

: . R F ;
tangent 1s ¥ x 107 times its angular momentum about the diameter. Then the value

B ;. | B
a
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666944232 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

500 ¢ TOIHA UG 5 cm [F901 dTd U 319 TMici D 58D Uh &1 & YIRd: 10 rad
<=1 1 DIV =Tl | GHREI ST 81 TfS el T YT TR & Fidef TSargul.
ST & UTU& 39D BTG G BT x « 1072 T g | Al x BT A BT |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666944233 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Atorce p _ (> 4 3y); acts on a particle in the x direction where F 15 m newton

and x 18 1n meter. The work done by this torce during a displacement trom x = 0 to
X =4 m. s T,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666944233 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Pl PO R x CMATA £ _ (5 4 3,); SR a1 S 8. o5 F e H ©

HR x IR E | [aRITTT x = 0 ¥ x = 4 Hex & SRA & R fbgr man o
I% |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666944234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A projectile fired at 30° to the ground is observed to be at same height at time 3s
and 5s after projection. during 1ts flight. The speed of projection ot the projectile 1s

in s_l,

).

(Giveng=10m s)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 60 Question Id : 3666944234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS Y 30° & I0 OR WEIfTd fahar a1 Haid, Haiqul & Y4, 3904 & dﬁ?ﬂ

33 U4 5¢ R G Sdle U3 U oidl © | Y& &I 990 95d

gl
[ﬁm—f%g =10 m s4)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 366694244
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response : ves
Maximum Instruction Time : 0
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Sub-Section Number: 1

Sub-Section Id : 366694244
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 61 Question Id : 3666944235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A : In the photoelectric etfect, the electrons are ejected from the metal
surface as soon as the beam of light of frequency greater than threshold trequency
strikes the surtace.

Reason R :  When the photon of any energy strikes an electron in the atom.
transter of energy from the photon to the electron takes place.

In the light ot the above statements. choose the most appropriate answer from the
options given below :

Options:

36669413161, Both A and R are correct and R 1s the correct explanation of A

36669413162 DBoth A and R are correct but R 15 NOT the correct explanation of A

36669413163, A is correct but B 1s not correct

36669413164. A 1s not correct but R 1s correct

Question Number : 61 Question Id : 3666944235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 2 v U 81 0 i AR AR GRITRUR

TUFYT A

DTRT [9ggd UHTd H UId D1 Hdg TR ofd WP [l aﬂqﬁlé‘ﬁﬁ H1gid 8
(Y Bidl 8. o1 &l ShRIdl € dl qid sade -l Bl 519 8idl &

PRUR

oid Tl i Sotl 1 Wi WH] § Us sdac I eohidl & df BieH 9 34l
Soide - &I WHEARD 8ldl &

IRl BYHI P o Falitie Iuged SR @1 I-14 Ad [4U fddeui d
DITT
Options:

26669413161 ATUTR G Hol & IR R Uol ORAT 6 A DI

36669413162, A TUTR &FI Tel & TR R Tl SHRAT -6l § A DI

36669413163, A 61 & IRgR TTAd &

= .
36669413164, ATTOA € IR TGl &

Question Number : 62 Question Id : 3666944236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List-T with List-I1 -

List-1 Species List-II Geometry/Shape
Pl I Tetrahedral
B. Acetvlide anion il Lizsas
C.NHy III. Pyramidal
IV. Bent

D. Cl05~

Choose the correct answer from the options given below:

Options:

36669413165, A-IIl B-II. C-I, D-IV

36669413166, A-IIL, B-I, C-II. D-IV

36669413167, A-1IL B-IV. C-1, D-1I

36669413168, A-1IL B-IV, C-II, D-I

Question Number : 62 Question Id : 3666944236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 1 1 f8e gl 11 9 Sifere -

gdi-1 i A1 TofefiHel ATPR
il [ IqEh TP

B. UdIfedIS S A it

C.NH," 1. ToRfEET

D ClO, V. S &%

i &g faeeat 4 9 98l 3w g
Options :

scccarid21ce A_TIT BR_IT -1 TyL.TWV
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36669413166. A-LlL B-I. C-II. D-IV
36669413167, A-LIL B-IV, C-1, D-II

36669413168, A-IL B-TV, C-1I, D-I

Question Number : 63 Question Id : 3666944237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25 mL of silver nitrate solution (1MW) 1z added dropwise to 25> ml. of potassium 10dide

(1.05 M) solution. The 1on(s) present in veryv small quantity 1n the solution 1s/are
Options:

36669413169, I only

36669413170, Ag™ and I" both

36669413171. K& only

36669413172, NO3~ only

Question Number : 63 Question Id : 3666944237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RiedR Agee (1M) & 25 mL faag of d&-g¢ B TR JRISES (1.05M)
% 25 mL faega & e man 81 faema & ofy gem o J ot s SufiE ©
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36669413169, I" haT

36669413170, Ag+ A4l gl

36669413171, K~ ®ada

36669413172, NO3~ 4l

Question Number : 64 Question Id : 3666944238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For elements B, C. N, Li. Be, O and E, the correct order of first ionization enthalpy 1s

Options:

36669413173. Li<Be <B<C<N<O0Q <F

36669413174. Li<B<Be<C<O<N<F

36669413175. B> L1=Be>C>N>0>F

36669413176. Li<Be<B<C<0O<N<F

Question Number : 64 Question Id : 3666944238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ddi B. C. N. Li. Be. O TUTF & {00 WYH G- TN &1 ol hH ©

Options:
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36669413174. Li<B<Be<(C=0Q<N<F

36669413175. B> L1=Be>C>N>0>F

36669413176. Li<Be<B<C<Q<N<F

Question Number : 65 Question Id : 3666944239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the extraction process of copper, the product obtained after carrying out the
reactions

(i) 2Cu,S + 30, — 2Cu,0 + 2580,

(i1) 2Cu,0O + Cu,8 — 6Cu + SO,  1s called

Options :

36669413177. Copper matte

36669413178, Copper scrap

36669413179, Blister copper

36669413180, Reduced copper

Question Number : 65 Question Id : 3666944239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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q:‘i’uaga e uemn o, SgieiRad sfufrard 3 & uyd Sad 3diE &l
Ped

(1) 2Cu,S + 30, — 2Cu,0 + 2850,

(11) 2Cuy0O + Cu,yS — 6Cu + S0,

Options:

36669413177, BIUT He

36669413178, HIUT ThU

36669413179, [&01%c PHIU

36669413180, UL HIUT

Question Number : 66 Question Id : 3666944240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement-1 :  Methane and steam passed over a heated N1 catalvst produces hvdrogen gas.

Statement-II : Sodium nifrite reacts with NH,Cl to give H,0, N> and NaCl.

In the light of the above statements,. choose the most appropriate answer from the options
given below :

Options:

36669413181 Doth the statements | and 1] are correct

36669413182. Both the statements I and 1] are incorrect

36669413183. Statement [ 15 correct but Statement II 1s incorrect
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Question Number : 66 Question Id : 3666944240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
d gl Y [RU U §

FHYF 1 : B YT FAar™ B 7TH Ni IGIRS IR Hdlled B IR glga e 119

3dF 8ldl o

DYF 11 : FITSTH F1gc e U Ny, C1 B MU Gl 8 H,0. N, TYT NaCl.

Options:

36669413181 PU I ddl Y- II 2l H‘cﬁ%

36669413182 DY I YT HYUA 11 &1 TTdd

26660413183 DU T TR § U= PY 11 7Teld §

266604131q4 PUA I 8 R HYA I T

el

Question Number : 67 Question Id : 3666944241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List-I with List-I1:

Last-1 Liet-T1

A K 1. Thermonuclear reactions
B.K(Cl II. Fertilizer

C KOH IT1. Sodium potassiom pump
D Li IV. Absorbent of CO)5

Choose the correct answer from the options given below :

Options:

36669413185, A-IV. B-I. C-III

36669413186. A-IV.

B-III, C-I,

D-II

D-II

36669413187, A-III, B-IV, C-II, D-I

36669413188, A-III. B-II, C-IV, D-I

Question Number : 67 Question Id : 3666944241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@Iﬁiﬂﬁﬂﬁfﬂaﬂﬂ rﬁﬁ&u{;

| r1|u-1||Hm|L|

1. Gifsgd uicfRgy dy

Hd &0 7 faeeal § 9 9l 3R g0

Options:

36669413185. A-IV.

B-I, C-III,

D-II
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36669413187. A-IIL B-IV, C-1I. D-1

36669413188, A-1IL, B-II, C-IV, D-I

Question Number : 68 Question Id : 3666944242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For compound having the formula (GaAlCl,  the correct option
from the following 1s

Options:

36669413189 Oxidation state of Ga i the salt GaAlCl, 1s +3.
36669413190, U2 1s coordinated with Cl in GaAlCl,

(Ga 13 more electronegative than Al and 1s present as a cationic part of the salt
36669413191, GaAlCly

36669413192 C | torms bond with both Al and Ga m GaAlCl,

Question Number : 68 Question Id : 3666944242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
GaAICl, T & I & feru FHufafad o 3 a8l fdde g

Options:

26660413189 TTEC GaAlCl, T Ga DI STRITHUN Gw1 +3 B
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26660413190 GaAlC], T Ga SUHEHUINA 8 €19 |

Al BT UL Ga YD [dgYd BUTHS § 3N FieT GaAlCl, H YU Ued
36669413191, P ©U I JURUT &

69413100 GaAICL, H Cl, Al TUT Ga T H TG &1 |

Question Number : 69 Question Id : 3666944243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following complex has a possibality to exist as merdional
1somer?

Options:

36669413193, LCONH3)3(NOo)3]

36669413194, [©° (en)i

36669413195, 00 (€n)Clel

36669413196, Lt (NHa)2 Cll

Question Number : 69 Question Id : 3666944243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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9 8 9 foog o d v@iiRe TH199d (Meridional isomer) ® &4 H UTY S
. =

Sl HIGAT B ?

Options:

36669413193, LCO(NH3)3(NO)3]

36669413194, Lol

36669413195, L-olen)xCh]

[pt(NH: ),(Cl,
36660413196, [P0 32(Ch]

Question Number : 70 Question Id : 3666944244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The set which does not have ambidentate ligand(s) 1s

Options:

T, My
36669413197, ED 1A, NCS-. €04

— y e ;
36669413198, NO2 . C;047. EDTA

36669413199 Czﬂf_._ ethylene diammine, H,O

36669413200, €204~ - NO,;~. NCS™

Question Number : 70 Question Id : 3666944244 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e for s JyTe-dt oS 81 6. 38 ©
Options:

T A= wTo— W=
36669413197. EDTA™. NCS ™. C,04

— P it
36669413198, NO2 . L2047 EDIA

36669413199, C204°~. T STEUHM. H,0

36669413200, C2047 . NO, -, NCS-

Question Number : 71 Question Id : 3666944245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements:

Statement I: If BOD 1s 4 ppm and dissolved oxygen 1s 8 ppm. then 1t 1s a good
quality water.

Statement II: It the concentration of zinc and nitrate salts are 5 ppm each. then 1t
can be a good quality water.

In the light of the above statements. choose the most appropriate answer trom the
options given below:

Options:

Both the statements I and I] are correct

36669413201.

36669413202. Both the statements [ and 1] are incorrect

36669413203, Statement [ 15 correct but Statement II 1s incorrect

L]
&collegedumaa
India’s largest Student Review Platform

S



36669413204, Statement I 15 incorrect but Statement 1T 1s correct

Question Number : 71 Question Id : 3666944245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 2l $Y- feu 8

ﬁ‘lﬂl%: gie ofd &1 BOD 4 PP ﬁ?@%ﬁ T § ppm%?ﬁﬁiﬂﬁm
DI ol

HUA 11 : ig o quTAEce Oleel A O U@ &I 54l 5 ppm © dl old D

UTGdl 3=31 8l Habdl o
SURIad ®Y-] & fore i v fawedi § O galfve 3fd 3o difou
Options:

36669413201 PU 1 dUl hY 11 G *HEE]T%I

26660413202 PYUT I AYT HYF 11 &1 Tad o |

36669413203, PY- I Tal & aYl HY I1 7Tl g |

36669413204, PUA 1 TTeld © AUl DU 1T Jol 6|

Question Number : 72 Question Id : 3666944246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Thin layer chromatography of a mixture shows the following observation:

»
A "

The correct order of elution in the silica gel column chromatography 1s

Options:

36669413205, B. C. A

36669413206, - C. B

36669413207. L. A. B

36669413208, B. A. C

Question Number : 72 Question Id : 3666944246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 00T I Uaeil WRd bt FafeiRad Uamr <2l g -

.
A

& B

RferaT ofd Iy HIACHTH H FeaT 1 9el $0 &
Options:

36669413205, B. C. A

36669413206, A. C. B
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36669413207. €. A. B

36669413208, B. A. C

Question Number : 73 Question Id : 3666944247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds i1 increasing order of rate of aromatic
clectrophilic substitution reaction

OH OH 0 OH
| b C d

Options:

36669413209, & & b d

36669413210, P- ¢, a, d

36669413211, L P: €. @

36669413212, 4, b, a, ¢

Question Number : 73 Question Id : 3666944247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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RIAfeS saaeH Hel UidITT= HiUfhal &} & ded %d # FHafafad aife!
&1 IR DIfelU

OH OH 0 OH
a b C d

Options:

36669413209, & 2+ P d

36669413210, ©» €, &, d

36669413211, 9= bs €, @

36669413212, @ s 2, C

Question Number : 74 Question Id : 3666944248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ = ‘T"” i ] Jf H ~Nu
| . Nu 1 -y (1)

= |-‘ Ny i - E N
[ W O [ W ] (1)

Where Nu = Nucleophile

Find out the correct statement from the options given below tor the above 2
reactions.

Options:

36669413213 Reaction (I) is of 1% order and reaction (II) is of 208 order
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36669413214 Reactions (I) and (II) both are of 15 order

36669413215, Reactions (I) and (II) both are of 210 order

36669413216 Reaction (I) 1s of 229 order and reaction (II) is of 1% order

Question Number : 74 Question Id : 3666944248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cl | Nu
Nu (1)
MeO OMe

Cl Nu

O,N O,N

. E

e

T8I Nu = ffee

ORI 2 ATHIHTTHT & 1678 e {4T [qedl | I Jel HYT FHU.

Options:

26660413213 HIHIHTT (1) UYH Bife DI g 3R i (an) fedig ®ifc Hi g

36669413214, SITHIEHTT (1) 7T fffehd (11) &IH1 81 WYH DI B 8

26669413015 SHIHTT (1) TUT 3ffshar (1) <111 8 fgaid Pife i g

26660413216, MR (1) fadia Sife ®i g 3R iffddr (1) wyH Sifc i g

S

~
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Question Number : 75 Question Id : 3666944249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

()

. _ | (i) NH,NH,, KOH
KMNO, A’ (Major Product) — >'B'

—) [11:] I—I;G‘ t]},{mm Pro Elllﬂ:l

(R = alkyl)
‘A’ and *B’ in the above reactions are:

Options:

CO-H
J- ; = S /J\\/“\,f’CHf;
36669413217, ® A~ CHO=A B =R

CO.H 0.  NHNH. 0
. SO 4 ‘ ‘

fﬁl\lﬂfﬂ"ﬁ CDH = A, B - | /)\w_wﬁmvf C—}H-};H'
36669413218, ® K

)
| M\ | = = R T T
36669413219, & CO.H=A B =R CO,H

)
o IO — = R o e - CH
36669413220. R MCHG A B=R CH;

Question Number : 75 Question Id : 3666944249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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O

- (i) NH,NH,, KOH
KMNO, 'A’ (G 3aE) —— 2 B
) 30 8] 3R

SR SHfehar § 43 316 AdUTB ©

(R = Ufema)

Options:

CO,H CO,H

= - /J\/“\J CH;
36669413217, R o~~~ CHO = A B =R

0, NHNH 0

CO.H ﬂ _ H
'q..\
' COH=AB= )\ ~ C-NH-NH,

36669413218, &

O
| /W -- = = R+ "0
36669413219, & CO.H=A B =R CO,H

Q
| CHO = = R T e g T
36669413220. & MCH"} A.B=FK CH;

Question Number : 76 Question Id : 3666944250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The complex that dissolves in water 1s

Options:

[Fe-(OH)-(OAc)] Cl
36669413221, L ©3(OH)(0AC)]
36669413222, 3L-O(NOJsl
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Fe,[Fe(CN):1-
36669413223, [ caFe(CN)sls

NH, )s[As(Mo:O1
scegea1azag. O DalglABMosO o))

Question Number : 76 Question Id : 3666944250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
a8 Hpd &l I § gadl 5. 8|

Options:

36669413221, LT ©3(OH)2(0Ac)s] C1

KACD(:":D'h
36669413222. 31Co(NO,)s]

Fe,[Fe(CN®
36669413223, T calFe(CN)sls

NH,):[As(Moz044).
wEEsdTIzos, P el AN Ly ly)

Question Number : 77 Question Id : 3666944251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HNO,

o-Phenylenediamine X

i
P

Major Product

X' 15

Nnfinnc *
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36669413225. N,
N-’-"::«
N
]'_'-.;.r,.-“
36669413226. H

36669413227.

36669413228.

Question Number : 77 Question Id : 3666944251 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o-BHAHeREER 2 oy
H sdilg

IRIEd AfufpaT o x B

Options:

36669413225, N

36669413226.
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H
3
N_]
36669413227. ~ NH,
36669413228.

Question Number : 78 Question Id : 3666944252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The polymer X - consists of linear molecules and 1s closely packed. It 1s prepared
i the presence of triethylaluminium and titanium tetrachloride under low
pressure. The polymer X is-

Options:

366694132729 Polytetratluoroethane

36669413230 Polyacrylonitrile

36669413231 High density polythene

36669413232 Low density polythene

Question Number : 78 Question Id : 3666944252 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dgdP X IdD &rngaﬁ%w% AR Hmdmﬁwﬁﬂﬁ%sﬂcﬁ:rﬁu'ﬁm
CEUide UqHITH SR ergc g <ol Farigs & SURyfd § 9 g | fhdl
Sdl g 1 9gad X §

Options:

36669413229, TICIICCTRIHARITY

36669413230. SN A R E| R

36669413231, 39 U@ Iy

36669413232, 31 e Hlierd=

Question Number : 79 Question Id : 3666944253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
L—1somer of tetrose X (C;HgO,) gives positive Schuff's test and has two clural

carbons. On acetylation. 'X' yields triacetate. X' also undergoes following reactions

HNO; NaBH.

IAI £ J I'EI __'3: IBI
Chiral compound
X' 18
Options:
CHO
HO H
HO H
36669413233. CH;OH
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H OH
2 H
CH,OH
CHO
H OH
HO H
36669413235. CH,0OH
[
H OH
| HO H
O . "
CH-OH
36669413236. -

Question Number : 79 Question Id : 3666944253 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢2RI X (C,H0,) BT L FH19Ud YHRIAD 1% URIEU1 &dl 8 | X Pl Ui,
clsUdice odl o | X HafaRad sfufhad sxar g

HNO3 NaBH4

IAI & I'EI 3 !EI
X'§

Options:

36669413233.
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CHO

HO H
HO H
CH,OH
H OH
H OH
2 H
36669413234, CH,OH
CHO
H OH
HO H
36669413235, CH,OH
H OH
HO H
2 —_— . H
36669413236. CH,OH

Question Number : 80 Question Id : 3666944254 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a solution of mixture having two morganic salts was treated with freshly
prepared ferrous sulphate 1n acidic medium, a dark brown ring was tormed
whereas on treatment with neutral FeCl,. it gave deep red colour which disppeared

]
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on boiling and a brown red ppt was tormed. The mixture contains




Options:

-

. A u
36669413237, L2047 & NO;

36669413238, L1300 & NO5-

36669413239, 203~ & CH3;CO0

, 4 A0 | e B
36669413240, SU37 & C704

Question Number : 80 Question Id : 3666944254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl PTe-® Fiee! & (Yol & foag= o1 o ety amem # qid FHita
Fehe & [daa ¥ FYFIRG B § dl U T 1 a0l adl § vlaid 3arH
FeCl; ¥ SUIRA ® G 7T AT 7 W1t §IdT1 g | 98 {7 f[deg= &l e |

3S Sl © SR YR-a1d 1 &1 3gay firear g
fgor o 3uyfya @

Options:

36669413237, L2047 & NO5-

36669413238, CH3C00™ & NO3™

36669413239, ~U3~ & CH3CO0™

R O o
36669413240, SV3~ & (04
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Chemistry Section B

SectionId: 366694245
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694245
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 3666944255 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solution of sugar 15 obtamed by mixing 200g of its 25% solution and 500g of its
40% solution (both by mass). The mass percentage ot the resulting sugar solution

18 (Nearest mnteger)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Nitactinn Nitmhar - 21 Niractinn Tl - AAARAQAADIEER NMitactinn Tuno * CA Calriillatnary - Nlanao
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il BT U [dTT TP 25% [dTT- & 200g TUT 40% [T & 500 B HIT
PP TG1 ©§ (S GOTHF UR SR §) TRUMH W= W D & [aadH
@ Ufa9d 9isdl o GELGEECIEE:D

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666944256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An atomic substance A of molar mass 12 g mol™" has a cubic crystal structure with
edge length ot 300 pm. The no. of atoms present i one unit cell of A 1s
. (Nearest integer)
: = 3 _ . 23 o
Grven the density of A 15 3.0 gmL I and N 4 =6.02 % 10 mol :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666944256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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AR Go0HM 12 ¢ mol™! & U%h GRANUGE Y1y A B G391 4514 &, forgd]
IR TS 300 pm © | UG1Y A Bl U Thlg Ja § SURYT WA & 4=
(Fepcda Ui T ) (fGa1g : ABTETd 3.0 gmL 1N, =

6.02 x 10° mol™1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666944257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Solid fuel used 1n rocket 1s a mixture of Fe;0; and Al (1n ratio 1:2). The heat

evolved (kJ) per gram of the mixture 1s (Nearest mteger)

Given: &Hfﬂ (Al,O3)=-1700 kJ mol ™!
AH{® (Fe503) = -840 kJ mol™!

Molar mass of Fe, Al and O are 56, 27 and 16 g mol™" respectively
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666944257 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




e T IUGRT fohdl &4 aTell 319 5YH Fe,0, a4l AL 1:2 3FUId | [HYU g
T3S (k1) it 9 v @ el ag @ (BEZGERUIED
]

-

P

fda1 8 AHP (Al,05) =—1700 kJ mol™!

AH¢ (Fe,0;) = -840 kT mol

HIGR GoOHT : Fe. Al JUT O & HHYT

56,27 d4T 16 ¢ mol™
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666944258 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0.004 M K-S0, solution 1s 1sotonic with 0.01 M glucose solution. Percentage

dissoctation of K,50, 1s (Nearest mteger)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 84 Question Id : 3666944258 Question Type : SA Calculator : None

a
&collegedumaa
India’s largest Student Review Platform

S

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

0.004 M K,S0,, @1 faad T ¥ & 0.01 M fdea ¥ FHRRRI & | K,S0, B
yfaerd fagie ¢ (Mdeqn qufe &)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666944259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A muxture of 1 mole of H,O and 1 mole of CO 1s taken 1n a 10 litre container and

heated to 725 K. At equilibrium 40% of water by mass reacts with carbon
monoxide according to the equation: CO(g) ~ H,O(g) = CO,(g) + H5(g). The

equilibrium constant K » 10~ tor the reaction 1s . (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666944259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 B H,O Y1 1 Hid €O & YU &l 10 ofiex & a9 § ddbx 725 K W IH

[BOT 51 9 AR H Td T 40% (G099 ) Ta- AFIdT5s 9
THTTRaT FHIHR0T HTHR H(Uihdl Sl 8

CO(g) + H,O(g)= CO,(g) + H5(g)

3{fiferg & fay 9 RIS K, < 107 & (Feeag guiie
H)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666944260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an electrochemuical reaction of lead. at standard temperature, it

o

E (Pb _11+_;ij =m Volt and g [Pbi-b-:;Pb] —n Volt. then the value of E (Pb2/P b"t*]

18 given by m — xn. The value of x 15 .(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666944260 Question Type : SA Calculator : None

a
&collegedumaa
India’s largest Student Review Platform

S

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




WS @ MG Y R U [degd-I8aHe AHbarH i &' (Pb> /Pb) =m
Tl E°(Pb*/Pb) =n 91 © I E'(Pb2"/Pb**) PTHM &1 8 m —xn. x PTHAM

g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 87 Question Id : 3666944261 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
KClO; + 6FeS0,4 + 3H,50, — KCl + 3Fe5(S0,4); + 3H,0

The above reaction was studied at 300 K by monitoring the concentration of
FeSO, mn which imtial concentration was 10 M and after halt an hour became 8.8

M. The rate of production of Fe,(SO,); 15 x10 P mol L1 g1,

(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666944261 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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KCIO; + 6FeSO, + 3H,S0, — KCl + 3Fe,(S0,); + 3H,0

JURIE HIUHTT BT HZTT 300 K UR FeSO,, DI Higdl AT HX {471 A7)
SU® ! WRIYS Aigdl 10 M Ul 3R 3147 9¢ 9YTd 8.8 M Bl TUi |

Fe)(504)s P FIE Bl IR © <10 mol L~} s~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666944262 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of spin-only magnetic moment values p_g [E.‘r[C}I_}ﬁ]g‘ [ agr [Cr(H,0) ™

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666944262 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DT TN P Haq (20 AT BT ST

U-e [CHCNY ™ [ e [CHHAOVPT B
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666944263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OH
Me
' HBr -
b Major Produet

The number of hyperconjugation structures involved to stablize carbocation
formed in the above reaction 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666944263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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OH

HBr

S A
RS REAR] [

IR Hfufhar o Rfa Eyam= & iAa UeE o34 8 gmfed 3fd
g Y13 T G

©.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666944264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H
(v mole)

The ratio x'yv on completion of the above reaction 1s

L
U o~ ____.~-‘D'H x mol of MeMgBr

H.O"

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

P
Me "
2

Question Number : 90 Question Id : 3666944264 Question Type : SA Calculator : None

H _______ ':.._—_. E__ L

ARl A L % _ 1. 8 e - .

M

~

S
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Correct Marks : 4 Wrong Marks : 1

0
o M~ _OH xmolof MeMgBr

s Me
(v mole) MO 1

TR HURgT & gul - R ¥y &I 0T B

Response Type : Numeric

w,

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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